s E APpRRF I0TFER 5- 8P ~r25 KFFFYT HE
- \;E’ﬁ{g

( B)I. & & 2¥+5x—3= (x+3) (2x—1)° Pl 7 kit o AR 2
(A) 2X¥+5x—3 #_x—3 eniz 5\ (B) (x+3) (2x—1) #_2¥+5x—3 en7F]5\
(C) 2x—1 #_x+3 =iz ;0 (D) 2x—1 &#_x+3 758

(B2, 5 -HE202% - By g2dafgt  HHEwREsr 0.7 « FHRETFH042

L T, 2R

(A 1.5 (B) 0.8 (©) 0.7 (D) 0.4
(C)3 #3X—14 x+mE_x—5ehg;\ > fpeniE i ?
A 3 (B) —3 € =5 (D) 5

(D)4 f23 BN J7Tx+3=3x+1> 7 & x=72

1 1
W3 g B« 3+47) (O 3177 (D) 3++7

(A)S. THBAI I S+ —C+2abhF N

(A) atb+tc (B a—b—c (C) a—b+c (D) —atb+c
(ADB.To 5 1P fa> 420 x (3x+5) =2x (x—1) #9h3r:

HA]: A i%?ﬁ"ﬁ%."l x> #3x+5=2 (x—1)

H A2 Ix+o=2x—1

H A3 IX—2x=—2-5

HApd i x=—1

vR— B BB e F IR

(A)#HZ:1 (B)#HZE2 (COHZH3 (D)IH 34
( D). Tfl]ﬁﬂrﬁ:% 5358 (x+1) (x—1) & (x—1) (x—2) =258 2

(A)x+1 (B)x—1 (C)x—2 (D) (x+1) (x—1)
(D)8 B2 4250 O’ —dx—1=0 &% » T Fljkif o ¥ B AL 9

(A)mjz (B)ja Bri#kjz (C)7 = Bf#kfz (D)j - L#kfrz - f#kfz
(B9 Trlmfeniai 1+v27?

(A) (x+1)'=2 (B) (x—1)'=2 (C) (x+1)'+2=0 (D) (x—1)"+2=0

( A)10. T awmit 8 —x24+2x+8 7N (7 ) X—=4 (2 )—X+2 (p) x+4 (7 )—-x-2
D= B®ep Op7 D 7p



( CHIL. (P +2x+4)(X® +2X—6) + 217 1 F| 8 A f3 %

(A) x=D)*(x=3)(x+1) (B) (x—1)*(x—3)(x—-1)
() (X+D*(x+3)(x-1) (D) (xX+D*(x-3)(x+1)

(A)I2. £ —3 X —kx+6=0¢c- Bz plk="2

() =5 (B —6 (C) —8 (D) 8

(D)3 & X+4x+h=0cna 25 £43 5 p)] p=2?

D -4 B0 ©2 D4

(BIIL £ A X+3 (x+a) = 43 apdja 2 asi Wk Plat > B ki ?

-—

10.

11.

12.

13.

(A)1 (B)2 (C)3 (D) 4

CBAM HRIBRREE R BRTOSLY -

Fs a2 (3x—2) *+4 (3x—2) =___ (x=2)(3x+2)__ -

L E B2+ 2) 4 (5x2+7x+9) FREE L RERA 11+9x+8x°

3+ E (sx—2)2= 25X —20x+4
JEer = 6
V0.0576 = 0.24
FxPE BN -3 —xH xh ax AN X entilk: b xEehiiiki co ¥ kWL d o
Rl at+b+c+d= _ -1

1
T (6x?—4x45)+(2x—1) > B3 3X——
F(a+2)x?+(b—Vx+(c+3) £2 573 plaXbXec= 6
¢ s —4x? 45 ",%J‘l SHAAEFNG 2x -3 4585 —4 REFNA G 2X —3
FURTG b am (T, —2)~B(—2, —8) RABuEig=__ 6l

- _ _ 120
el E A= £33 ABCP © £BAC=90" > AD LBC » AB=8 > AC=15" &AD= 17— °
B
D

w2 JT+b 2o pla—b 0 °

— =4 ’ ‘l a—b— o
A

A C
15

F58 A 12 28 — 34+ 10x—15= (2x-3)(x* +5) -



